A B U 2 #H B B
IEZDEH AEBRSEESHEAEEE BrEOSEBEREIS
HEEERE B E
N &7 3% 28 12H
NN LA 2 PaEES
1 AILAE (B
IEZ0| HeLEEomeEXE | A K & 8| (B k) v 3B S i EAEDOES EALEHE
% B % 5 210 %20 AR (FBihZ) X 1% % (B5AH)
BEa BIEE
s —MRNETIETHLIIEN
REMME BH 5% 5,150,000 L BREELBASEIA
REDME $HA A o 5475,
BR2 BALA ——
REIMHE BA R o
ﬁkiﬁ_ﬁ*i Ega‘fg%r& B XE 5300.000 = _— -
_|XER BB - o [Ratt #AKTERR
$222238 5,100,000 REM@GE Bk HA 5,610,000
[(E& LDEE]

1

(% EMAE IS HEBRIRSOEETLE
2 TAAEEBEIL ALEARBL N AECHECHERIRESOERER) T
3 THEIEEIL. AFLBLNRBELESEZUNHFLLED100D110IZHETLEEECHERAADEEE) TRRE




22223
(BE{7-F)

2 ZHAE
ZHOWEFAOD T # _
- = n ) E R HN F T o - B &
248 B A ?ﬁvsxg%ﬁm& 2 HEHE 5 = = = IE% 05K I k-4 % =5t 2 B O = ;
£ A H©H # HB H
MEIIER L=28.0m
TREERIE A=580.0m2
ST A=580.0m2
SHIFE2/158 5,610,000 F13%E2A 1580 SF3E3I[AIA  |BAT aTEml #R
E B # o I #
TEEZHAE T E & 8 — IE% 0B MK I = % P = b 2]
# F 5 12
£ A A8 £ A H©H
FERIHOBHINZ BEIRIDHDOA
BRUBISBROERNIBEHTHLI LML, IF
TEAHL DEFHBZSM3ESAS1BA~ER,
SHM3EI[/ 238 SH3FE2/ 158 SH3ESF31A
0
AR&H SHATEMR FrF B O#% O I #
EEZHA TE & 8 5 = — 5 IEZ%0HH i k2 % I = b 2}
Jc
REIMAFR SHA HX £ A B £ B B
LI KL=50.2m LREREHCH LT, FEMRBUELZt=50cm TiREt
TBEREIEA=580.5m2 LTV, BRI EEREEL R, t=80cm
184800 % T A=580.5m2 THo1=1=8. FRAIF7ILERAS BV =29.0m3H 5
S#H345528H SETE TEAL V=46.4m3~V=174m3D¥E I,
(5794800)
FZF BE #% O I #
EERHA TE&H — — = IEZ0HFH I = % I = | =]
# A H £ B H
0
E B #% O I #
EEZHA EE&HE 5 = — = IFEZE0HFH I - % I (3 B 2]
£ A B # B 8

(BB LDEE]

TEEEHT, BMZHBEOBRHBETHEL. ( RNIFEEROZNELLREHT D,



